Leistungsklasse:| D Gruppe :| 1
Fehlercode
1 SchneiderClaudia
2 MiillerAnette
3 HindelangCarmen
4 KorperAnita
5 0
Modus: Vierergruppe
Paarungen
1 SchneiderClaudia . HindelangCarmen 11 9 10 12 9 11 6 11
2 MdllerAnette . KorperAnita 11 2 11 5 11 3
4 SchneiderClaudia . MdllerAnette 5 11 4 11 7 11
5 HindelangCarmen . KorperAnita 16 14 13 11 11 6
7 SchneiderClaudia . KorperAnita 11 4 11 2 11 9
9 MdllerAnette . HindelangCarmen 11 7 5 11 5 11 11 6 11
Ergebnis
1. |HindelangCarmen 3 0 9 3
2. |MillerAnette 2 1 8 3
3. |SchneiderClaudia 1 2 4 6
4,
KoérperAnita 0 3 0 9
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Leistungsklasse:| 1 Gruppe :| A
Fehlercode
1 Berghausen Lothar
2 Demontis Antonio
3 Jager Helmut
4 Rast Michael
5 Varschen Horst
Modus: Funfergruppe
Paarungen
1 Berghausen Lothar Jager Helmut 12 10 11 6 11 8
2 Demontis Antonio Rast Michael 11 4 11 2 8 11 10 12 11 9
3 Berghausen Lothar Varschen Horst 15 13 11 6 7 11 11 8
4 Berghausen Lothar Demontis Antonio 11 5 11 6 9 1 11 11 8
5 Jager Helmut Rast Michael 12 10 9 11 8 11 11 5 12 14
6 Demontis Antonio Varschen Horst 7 11 11 13 11 1 9 11
7 Berghausen Lothar Rast Michael 11 5 11 8 11 8
8 Jager Helmut Varschen Horst 11 8 5 11 11 3 9 11 8 11
9 Demontis Antonio Jager Helmut 8 11 11 5 7 1:1 11 1 11
10 Rast Michael Varschen Horst 6 11 9 11 6 11
Ergebnis

1. |Berghausen Lothar 4 0 12 2

2. |Varschen Horst 3 1 10 6

3. |Jager Helmut 1 3 7 10

4. |Demontis Antonio 1 3 6 11

5. |Rast Michael 1 3 5 11
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Leistungsklasse:| 1 Gruppe:| B
Fehlercode
1 Varschen Michael
2 Mittermayer Florian
3 Roggers Tobias
q Reisacher Michael
5 Beckmann Stefan
Modus: Fiinfergruppe
Paarungen
1 Varschen Michael . Roggers Tobias 13 |:] 11 10 12 6 11 11 2 11 8 i Varschen Michael 3 |:] 2 [RoggersTobias
2 Mittermayer Florian : Reisacher Michael 4 [:] 11 5 11 5 11 E Reisacher Michael 3 |:] o [wmittermayer Florian
3 Varschen Michael : Beckmann Stefan 11 | 7 11 8 7 11 8 11 11 7 i Varschen Michael 3 |:| 2 |Beckmann Stefan
4 Varschen Michael : Mittermayer Florian 12 |:| 10 11 |1 7 11 |:] 8 i Varschen Michael 3 |:] o [wmittermayer Florian
5 Roggers Tobias : Reisacher Michael 7 |: 11 12 |:] 10 12 |:] 10 8 [:] 11 8 |:] 11 i Reisacher Michael 3 |:] 2 [Roggers Tobias
6 Mittermayer Florian : Beckmann Stefan 9 |:] 11 6 11 5 11 E Beckmann Stefan 3 |:] o [wmittermayer Florian
7 Varschen Michael : Reisacher Michael 11 || 7 11 7 11 8 i Varschen Michael 3 |:1 0 [Reisacher Michael
8 Roggers Tobias . Beckmann Stefan 2 | 11 6 |:] 11 8 |:] 11 ! Beckmann Stefan 3 |:] O [RoggersTobias
9 Mittermayer Florian : Roggers Tobias 11 |:] 8 7 11 8 11 10 12 E Roggers Tobias 3 |:| 1 [Mittermayer Florian
10 Reisacher Michael : Beckmann Stefan 12 |:] 10 9 [:] 11 8 |:] 11 12 |:| 10 o |:] 11 i Beckmann Stefan 3 |:| 2 |Reisacher Michael
Ergebnis

1. [Varschen Michael 4 0 12 4

2. |Beckmann Stefan 3 1 11 5

3. |Reisacher Michael 2 2 8 8

4. |Roggers Tobias 1 3 7 10

5. |Mittermayer Florian 0 4 1 12




Leistungsklasse:] 2 Gruppe:| A
Fehlercode
1 Schenk Helmut
2 Unglert Matthias
3 Mikschl Uli
4 Diana Stefan
5 Marton Otto
Modus: Funfergruppe
Paarungen
1 Schenk Helmut Mikschl Uli 11 8 11 7 11 6
2 Unglert Matthias Diana Stefan 9 11 6 11 11 6 8 11
3 Schenk Helmut Marton Otto 5 11 4 11 13 11 11 9 9 11
4 Schenk Helmut Unglert Matthias 15 17 11 7 7 11 11 8 6 11
5 Mikschl Uli Diana Stefan 7 11 10 12 11 7 11 9 6 11
6 Unglert Matthias Marton Otto 9 11 7 11 8 11
7 Schenk Helmut Diana Stefan 11 9 10 12 10 12 11 9 11 9
8 Mikschl Uli Marton Otto 11 8 6 11 11 13 6 11
9 Unglert Matthias Mikschl Uli 11 6 14 12 11 8
10 Diana Stefan Marton Otto 9 11 8 11 9 11
Ergebnis

1. |Marton Otto 4 0 12 3

2. |Schenk Helmut 2 2 10 8

3. |Diana Stefan 2 2 8 9

4. |Unglert Matthias 2 2 7 8

5. [Mikschl Uli 0 4 3 12
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Leistungsklasse:| 2 Gruppe:| B
Fehlercode
1 Unglert Oliver
2 Wengenmayr Rainer
3 Kroll Oliver
4 Kowal Tobias
5 Marton Peter
Modus: Fiinfergruppe
Paarungen
1 Unglert Oliver : Kroll Oliver 5 | 11 7 |:]1 11 11 |:] 6 9 |:1 11 i Kroll Oliver 3 [:] 1 [unglertOliver
2 Wengenmayr Rainer . Kowal Tobias 11 || 6 11 4 11 6 E Wengenmayr Rainer 3 |:] O |KowalTobias
3 Unglert Oliver : Marton Peter 12 |:| 10 11 6 11 4 i Unglert Oliver 3 [:] 0 [Marton Peter
4 Unglert Oliver : Wengenmayr Rainer 10 |:] 12 10 |:] 12 13 |:] 11 5 1:1 11 E Wengenmayr Rainer | 3 |:| 1 |unglert Oliver
5 Kroll Oliver . Kowal Tobias 5 |: 11 6 |:] 11 11 |:] 8 11 ] 7 11 |:] 13 i Kowal Tobias 3 |:] 2 [KrollOliver
6 Wengenmayr Rainer : Marton Peter 8 |:| 11 8 11 12 10 11 4 11 8 E Wengenmayr Rainer| 3 |:| 2 [Marton Peter
7 Unglert Oliver . Kowal Tobias 11 |:] 9 13 15 11 9 11 6 i Unglert Oliver 3 |:] 1 |KowalTobias
8 Kroll Oliver . Marton Peter 11 |:| 13 10 |:| 12 5 |:1 11 i Marton Peter 3 |:] o0 [KrollOliver
9 Wengenmayr Rainer : Kroll Oliver 10 |:] 12 7 11 10 12 i Kroll Oliver 3 |:| o0 [|wengenmayrRainer
10 Kowal Tobias . Marton Peter 5 |:] 11 7 |:] 11 1 |:1 11 i Marton Peter 3 |:] 0 |[Kowal Tobias
Ergebnis

1. [Wengenmayr Rainer 3 1 9 6

2. |Marton Peter 2 2 8 6

3. |Kroll Oliver 2 2 8 7

4. |Unglert Oliver 2 2 8 7

5. |Kowal Tobias 1 3 4 11




Leistungsklasse:] 3 Gruppe:| A
Fehlercode
1 Zeller Christopher
2 Mayr Andreas
3 Dorn Gerhard
4 Dorn Helmut
5 0
Modus: Vierergruppe
Paarungen
’
1 Zeller Christopher : Dorn Gerhard 8 [:] 11 11 |:| 7 11 |:] 5 11 |:] 6 iZeIIerChristopher 3 |:] 1 |pornGerhard
/
2 Mayr Andreas : Dorn Helmut 11 |:| 7 3 |1 11 11 |:] 5 11 |:| 7 ! Mayr Andreas 3 |:] 1 [|pornHelmut
f
i
4 Zeller Christopher : Mayr Andreas 8 |:1 11 11 |:| 6 12 |:| 14 11 |:] 3 11 |:| 8 iZeIIerChristopher 3 || 2 [mayrAndreas
/
5 Dorn Gerhard . Dorn Helmut 3 |:] 11 14 |:] 16 11 |1 5 4 1:1 11 ! Dorn Helmut 3 |:] 1 |[bornGerhard
f
i
7 Zeller Christopher : Dorn Helmut 9 [:] 11 11 |:] 9 13 |:] 11 11 |:] 5 iZeIIerChristopher 3 |:] 1 [|pornHelmut
/
| | '
i ]
9 Mayr Andreas : Dorn Gerhard 11 |:] 6 12 |:] 10 11 |:] 8 /  Mayr Andreas 3 |:] o |pornGerhard
' i
l i
Ergebnis
1. |Zeller Christopher 3 |:] 0 9 |:| 4
2. |Mayr Andreas 2 | 1 8 |:| 4
3. [Dorn Helmut 1 |:] 2 5 [:] 7
4,
Dorn Gerhard 0 |[:] 3 2 [:] 9




Leistungsklasse:] 3 Gruppe:| B
Fehlercode
1 Danner Toni
2 H6érmann Hubert
3 Johler Martin
4 Nemela Thomas
5 0
Modus: Vierergruppe
Paarungen
/
1 Danner Toni . Johler Martin 11 4 11 5 11 3 i Danner Toni Johler Martin
/
2 Hérmann Hubert . Nemela Thomas 6 11 5 11 4 11 ! Nemela Thomas Hormann Hubert
f
i
4 Danner Toni . Hérmann Hubert 11 3 11 5 11 2 i Danner Toni Hormann Hubert
/
5 Johler Martin . Nemela Thomas 11 9 11 3 11 7 ! Johler Martin Nemela Thomas
f
/
f
7 Danner Toni . Nemela Thomas 12 10 11 5 9 11 11 i Danner Toni Nemela Thomas
/
f
i
9 Hérmann Hubert . Johler Martin 7 11 10 12 5 11 i Johler Martin Hormann Hubert
/
!
Ergebnis
1. [Danner Toni 3 0 9 1
2. |Johler Martin 2 1 6 3
3. [Nemela Thomas 1 2 4 6
4.
H6rmann Hubert 0 3 0 9




Leistungsklasse:] 3 Gruppe:| C
Fehlercode
1 Weigell Bernard
2 Haug Ronnie
3 Becherer Valentin
4
5 0
Modus: Vierergruppe
Paarungen
1 Weigell Bernard Becherer Valentin 14 12 11 7 11 |1 6
4 Weigell Bernard Haug Ronnie 11 8 11 7 11 |1 3
9 Haug Ronnie Becherer Valentin 11 7 11 4 11 |1 3
T
Ergebnis
1. |Weigell Bernard 2 0 6 0
2. |Haug Ronnie 1 1 3 3
3.
Becherer Valentin 0 2 0 6
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Leistungsklasse:] 3 Gruppe:| D
Fehlercode
1 Holzer Andreas
2 Lecheler Rudolf
3 Schultze René
4 Mayr Johann
5 0
Modus: Vierergruppe
Paarungen
1 Holzer Andreas . Schultze René 11 4 11 3 9 11 9 11 11
2 Lecheler Rudolf . Mayr Johann 5 11 8 11 4 11
4 Holzer Andreas . Lecheler Rudolf 11 2 11 7 11 ;| 2
5 Schultze René . Mayr Johann 11 9 11 7 11 ;| 2
7 Holzer Andreas . Mayr Johann 11 5 11 4 9 1 11 11 8
9 Lecheler Rudolf . Schultze René 1 11 1 11 0o |:]1 11
Ergebnis

1. |Holzer Andreas 3 0 9 3

2. |Schultze René 2 1 8 3

3. |Mayr Johann 1 2 4 6

4.

Lecheler Rudolf 0 3 0 9
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Leistungsklasse:| 3 Gruppe :| E
Fehlercode
1 Stonjek Peter
2 Haggenmiiller Wolfgang
3 Stenzel Michael
4 Bosch Rainer
5 0
Modus: Vierergruppe
Paarungen
1 Stonjek Peter . Stenzel Michael 11 || 4 11 2 11 6
2 Haggenmiller Wolfgang | Bosch Rainer 4 |1 11 7 11 4 11
4 Stonjek Peter . Haggenmiller Wolfgang 11 |1 3 11 5 11 2
5 Stenzel Michael : Bosch Rainer 5 71 11 5 11 4 11
7 Stonjek Peter . Bosch Rainer 12 || 10 11 6 11 9
9 Haggenmdller Wolfgang | Stenzel Michael 6 I 11 4 11 6 11
Ergebnis
1. |Stonjek Peter 3 0 9 0
2. |Bosch Rainer 2 1 6 3
3. |Stenzel Michael 1 2 3 6
4.
Haggenmiiller Wolfgang 0 3 0 9
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Leistungsklasse:] 3 Gruppe:| F
Fehlercode
1 Seiffer Uwe
2 Prestel Dietmar
3 Beck Florian
4 Ehwald Volker
5 0
Modus: Vierergruppe
Paarungen
1 Seiffer Uwe Beck Florian 11 4 11 1 11 7
2 Prestel Dietmar Ehwald Volker 11 8 11 4 11 7
4 Seiffer Uwe Prestel Dietmar 11 6 8 11 11 3 10 12 12 14
5 Beck Florian Ehwald Volker 10 12 6 11 12 10 7 11
7 Seiffer Uwe Ehwald Volker 4 11 11 6 11 9 11 6
9 Prestel Dietmar Beck Florian 11 8 11 13 11 10 11 6
Ergebnis

1. [Prestel Dietmar 3 0 9 3

2. |Seiffer Uwe 2 1 8 4

3. |Ehwald Volker 1 2 4 7

4,

Beck Florian 0 3 2 9
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Leistungsklasse:| 3 Gruppe:| G
Fehlercode
1 Betsch Harald
2 Koéllemann Wolfgang
3 Rauh Christoph
4 Hempel Jens
5 0
Modus: Vierergruppe
Paarungen
1 Betsch Harald . Rauh Christoph 11 || 3 11 5 11 9
2 Kéllemann Wolfgang . Hempel Jens 9 |: 11 9 11 11 4 11 5 11
4 Betsch Harald . Kéllemann Wolfgang 11 || 6 11 7 11 8
5 Rauh Christoph : Hempel Jens 6 I 11 8 11 6 11
7 Betsch Harald : Hempel Jens 11 |:] 8 11 6 11 9
9 Kollemann Wolfgang : Rauh Christoph 11 || 7 11 7 11 7
Ergebnis
1. [Betsch Harald 3 0 9 0
2. |Kollemann Wolfgang 2 1 6 5
3. |HempelJens 1 2 5 6
4.
Rauh Christoph 0 3 0 9
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Leistungsklasse:| 3 Gruppe:| H
Fehlercode
1 Herz Dominik
2 Bischlager
3 Reinema
4 0
5 0
Modus: Dreiergruppe
Paarungen
1 Herz Dominik . Reinema 11 |: 11 5 11 9
4 Herz Dominik Bischlager 11 11 9 14 12
9 Bischlager . Reinema 11 |: 8 11 11 5 11 11
Ergebnis
1. |Herz Dominik 2 6 0
2. |Bischlager 1 3 5
3.
Reinema 0 2 6
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